GAS LAW HOMEWORK, DUE MONDAY 12/11.
1) A BALOON OF 2 LITERS IS HEATED FROM 273 K TO 546 K, WHAT IS THE NEW VOLUME.
2) A CAR TIRE OF 1 L VOLUME AT 1 ATM IS EXPOSAED TO 2 ATM OF EXTERNAL P, WHAT IS THE NEW VOLUME.
3) A SAMPLE OF GASS AT 250 K AND 101 kPa IS PRESSURISED TO 202 kPa, WHAT IS THE NEW TEMP?

4) A BALLOON OF 1L, 250K AND 101 kPa IS MOVED TO A PLACE WHERE THE TEMP IS 500K AND THE PRESSURE IS 202 kPa, WHAT IS THE NEW VOLUME.

Quiz Monday (DOUBLE) on gas kinetic molecular postulates (collision theory) and also Boyles, Charles and Gay-Lussac and combined gas laws 

